
NSN 3950-01-511-1191
Winch Parts Kit - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/3950-01-511-1191

End Application:

7360-01-473-3408

Component Quantity:

29

Component Document Origin:

Industrial

Package Model Number:

50390-201

Product Name:

Ck replacement winch parts and assembly

Special Features:

Parts kit contains:  hatch surface mount 1pc.;  weatherstrip,  epdm,  1/2 w x 3/8 t x 42in. L 1pc.;  gasket,  1/16 sbr gasket,  6.25 x 7.875 c/w

cutout 1pc.;  nbr. 10 x 3/4 tek screw,  hex drive c/w neoprene washer 12pcs.;  pot magnet,  7-8 pull,  .250 in. Painted steel holder 1pc.;  nbr.

8 x 3/4 tek screw,  cap head,  philips drive 1pc.;  winch modified 1500 l3 shelby model 5352 c/w 2 o drum 2pcs.;  ease attachment bracket

2pcs.;  3/8 0 plated lock washer 6pcs.;  3/8 0 grade b hex head bolt x 1.00 long 2pcs.;  3/8 hex head machine scre (use existing) 

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

Fiig:

A23800

https://aerobasegroup.com

